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OsiSgHdE #dUda &l
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OsgsE=LA SN HMAOIG FM4G
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202 04 Hl 8,100 8,100 0
01 20Ol 2,100 2,100 0
o220 2,100,000& 2,100
03 2220 H| 6,000 6,000 0
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Al 11,520
= 11,520

02 gzt atEx 51,840 52,640 A800

1,200, OOOC>J *48 0 & *90% 51,840
28,800
11,520
11,520

H =1

Csusedsid 25,880 17,428 8,452

201 Ler2d| 6,880 8,028 A1,148
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o
=

6,880 8,028 A1,148
6,880
2= HMZ& 1,000,000 44 A 4,000
50,000& x1& 50
15,0003 » 1A 1201 2 180
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O4=s &He Z2E145 =2 EXISAt
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E0tSESEML (A=) 900,000 1,094,041 A 194,041
= 672,000
Al 200,000
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2,350,000,000&
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300,000

,050,000

1,965,000

385,000
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22,464

14,601
7,863

19,656

2,808

H =

22,464

14,601
7,863

19,656

2,808

Ol X2 A (18F) 22,464 ,000&

H =

22,464

22,464

14,601
7,863

19,656

2,808

H =

424,064

212,032
212,032

452,400

A28,336

402 QI 2t 201 A

H =

424,064

212,032
212,032

452,400

A28,336

Xl (758ha)
424,064,000

H =

424,064

424,064

212,032
212,032

452,400

A 28,336

H =

164,160

82,080
82,080

113,525

50,635

H =

164,160

82,080
82,080

113,525

50,635

O=sYelloll 8B H= XE 164,160,000

H =

164, 160

164,160

82,080
82,080

113,525

50,635

562,281

70,640
229,920
261,721

929,526

N367,245

20,000

10,000
10,000

19,200

800

20,000

19,200

800




SN
X{ ZH -
S Tt

el

22
J2

20
B
2

H =
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20,000,000&

=
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10,000
10,000

19,200

800

HE s =H X2 A
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150,201

75,100
75,101

134,232

15,969

H =

75,134

37,567
37,567

59,165

15,969

04 JIZHHZ2Z2NHSES

OHZ s =HUHMEI(12HS -

o)
75,134,000&

H =

75,134

75,134

37,567
37,567

59, 165

15,969

301 LBrR A

H =

75,067

37,533
37,534

75,067

10 & AHAHI

50,0002 108! «128 -

12 JIEtE2 &
[

e

69,067,000

H =

H =

6,000

6,000

3,000
3,000

69,067
69,067

34,533
34,534

6,000

69,067

141,280
70,640
35,320
35,320

344,294

A203,014

402 QI2tX=01 &

141,280
70,640
35,320
35,320

344,294

A203,014

2
=2 E X0 XI&(99ton)

141,280,000

H =W

141,280
141,280

70,640
35,320
35,320

344,204

A203,014

=

186,000

93,000
93,000

185,000

1,000

402 QI2tX=01 &

186,000

185,000
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ool AEASY 2B (S5l &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
A 93,000
2 93,000
01 UAXEHF 186,000 85,000 1,000
O & B E S M2 F 3 (370ha)
86,000,000 186,000
Al 93,000
2 93,000
ASASHS =AM 1,800 1,800 0
201 QBr2gy| 1,800 1,800 0
01 At 22| bl 1,800 1,800 0
Os42 GHEA ARAN L AZPAY]
300,0002 63l 1,800
HEFES e WX E& 8,000 18,000 0
Al 9,000
2 9,000
402 Q12X+ 0/ 18,000 18,000 0
Al 9,000
2 9,000
01 LA =S 18,000 18,000 0
OB B4 WHEX X4 (%ha)
18,000,0002 18,000
Al 9,000
2 9,000
B2 HSH A EAWY A 15,000 30,000 15,000
Al 7,500
2 7,500
402 212t 20| 15,000 30,000 15,000
Al 7,500
2 7,500
01 UATEHE 15,000 30,000 15,000
0 #aE SN XA (15ha)
30,000, 0002 ¥50% 15,000
Al 7,500
2 7,500
2iges SR 30,000 30,000 0
307 212+0I & 30,000 30,000 0
04 DIDISH AL 30,000 0 30,000
CEFEEYES ] 30,000,0002 30,000
DEISHS BAXR 2,494,600 2,823,800 329,200
3 748,000
Al 268,400
2 1,478,200
o s XHTH K| 24 AL S 1,081,000 1,081,000 0
402 Q12X+ 0/ 1,081,000 1,081,000 0
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ol DERSAS MATIR (S5l &2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko Hms2
01 QItXt=E X 1,081,000 1,081,000 0
OY =X X2 A (5,000ha)  1,081,000,000& 1,081,000
HHEA USRI KA 50,400 50,400 0
402 Q12+ X201 ™ 50,400 50,400 0
01 BIZt =28 = 50,400 50,400 0
ObIRAl S22l N
200, 000& *360CH *70% 50,400
D=t H 8 NJIAMS 78,400 78,400 0
402 212t X201 A 78,400 78,400 0
01 B2t =28 = 78,400 78,400 0
0DY =t HELNA ALY
3,200 *70,0004¢ Kt*35% 78,400
DTHIE B YR EWTYAY 14,000 14,000 0
Al 7,000
= 7,000
402 QI2HX201 ™ 14,000 14,000 0
Al 7,000
= 7,000
01 BI2tX=28 £ 14,000 14,000 0
OZZUIS B WYS =W XA (1,7500a)
10,000& *1,7500H *80% 14,000
Al 7,000
= 7,000
H SR HE=> ALY 74,000 0 74,000
Al 37,000
= 37,000
402 QI2tX=01 ™ 74,000 0 74,000
Al 37,000
2 37,000
01 DIZT=RE X 74,000 0 74,000
OH SQE WL A (2A2E)
74,000,000& 74,000
Al 37,000
= 37,000
seMSHMASSIBIRENE 1,196,800 0 1,196,800
& 748,000
Al 224,400
= 224,400
402 QI2HX=201 ™ 1,196,800 0 1,196,800
= 748,000
Al 224,400
= 224,400
01 B2t =28 = 1,196,800 0 1,196,800
OXHSSH(HO=A Al 2 4HAR)
1,496,000, 000& *80% 1,196,800
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_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o Hms2
& 748,000
Al 224,400
= 224,400
SHELASEN FMAA 6,781,305 6,457,328 323,977
= 4,187,645
J| 30,600
Al 955,705
i 1,607,355
ELMSH EX 234,100 347,874 A113,774
= 163,880
Al 35,110
= 35,110
402 BI2HXH=201 ™ 234,100 347,874 A113,774
= 163,880
Al 35,110
= 35,110
01 BI2tX=28 £ 234,100 347,874 A113,774
OEYMNAHM=S AL (1,800&) 234,100,000 234,100
= 163,880
Al 35,110
i 35,110
B =TI RS ALY 100, 041 92,978 7,063
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01 =2 WA bl 2,100 2,100 0
©2t2 o bl 2,100,000& 2,100
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MASSEHEZX=ALS 2,552,500 2,705,491 A 152,991
= 2,552,500
402 212E X201 A 2,552,500 2,705,491 A 152,991
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20
B
2

,004,000

502,000
502,000

—

,008,000
,004,000

502,000
502,000

1,778,000

230,000

(Sl X2 AR (22

L2255
2,008,000,000

H =1

—_

,008,000

,008,000
,004,000

502,000
502,000

1,778,000

230,000

e

3 s XA

H =

97,200

48,600
48,600

97,200

402 QI 2tXH201 A

H =

97,200

48,600
48,600

97,200

=~
© e
ooy
o >

(Bt HA) sXHAM X

Oz HHOIE MHHE X

21 (420ha)

X4 (3nha)

67,200,000&

H =

30,000,000

H =

97,200

67,200

33,600
33,600

30,000

15,000
15,000

97,200

172,603
120,821
25,891
25,891

36,736

135,867

172,603
120,821
25,891
25,891

36,736

135,867

HAF XS AL (270ha)

172,603,000

H =1

172,603
172,603

120,821
25,891
25,891

36,736

135,867

H =

297,200

148,600
148,600

313,900

216,700

402 212+ X201 &

H =

297,200

148,600
148,600

313,900

A 16,700
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HE: 50 AS OH(SEHYLM/5Y - 55)
Ol SUASEA MK (e @
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o B2
01 PIARERE 297,200 313,900 A 16,700
ODEIHAX +48 NF  297,200,0008 297,200
Al 148,600
2 148,600
AER Y D0 FHYAR KA 649,550 649,550 0
402 Q12 X0/ 649,550 649,550 0
01 PIARZERE 649,550 649,550 0
OXTE U D=0t WBHAH X2 649,550
O+EH(HHX) 425nax250, 0002 106,250
O% S X (QBHEHX) 4,575hax70,0002! 320,250
OBLEX 1,487hax 150, 0002 223,050
=AS Jlg Chs 231,500 0 231,500
= 231,500
402 QI2H X2 0/ 231,500 0 231,500
=2 231,500
01 PIARZERE 231,500 0 231,500
O=AS I8 CHeaHAIY (72ha)
231,500,000 231,500
= 231,500
SOl AW LS (STHYLL/SY - 5&) 2,693,680 2,706,850 A13,170
=2 132,746
| 46,000
Al 853,012
B 2 1,661,922
DR AL ZH L =B 1,774,930 1,777,100 A2, 170
=2 132,746
| 46,000
Al 675,292
2 920,892
PN 115,000 147,500 £32,500
| 46,000
Al 34,500
2 34,500
402 Q12 X0/ 115,000 147,500 £32,500
| 46,000
Al 34,500
2 34,500
NEESETES 115,000 147,500 £32,500
OFTAIIZ DXIBAIY 115,000
ODNEZMAALSHSIAL (RE2HIAIL S
=) 230,000, 000! *50% 115,000
| 46,000
Al 34,500
2 34,500
WAS FMEX ZAAY 242,000 190,000 52,000
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H =

242,000
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190,000

52,000

SHXIEH AL (2.4ha)
484,000, 000& *50%

H =

242,000

242,000

121,000
121,000

190,000

52,000
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160,000
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80,000

80,000

80,000

H =

160,000

80,000
80,000

80,000

80,000
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HE==(%a) 320,000,000 *x50%
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160,000
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80,000
80,000
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80,000

AN&otRA GHED| Hgatd e ALY
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402 SI 2t 201
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S U
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32,500
32,500

65,000
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H =W

312,610
132,746
89,932
89,932

300,000

12,610

402 QI 2tXH201

H =1

312,610
132,746
89,932
89,932

300,000

12,610

M

01 2t =28 =
A

OANEZWHUX 085 E3tAHS (2.4ha)
312,610,000&

H =W

312,610

312,610
132,746
89,932
89,932

300,000

12,610

Al

100,000
50,000

100,000
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402 SI2HXH=201 ™ 100,000 100,000 0
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= 50,000
01 QIZt X228 X 100,000 100,000 0
O3t M ALEEX] & CHSHALE (4ha)
200,000, 000:& *50% 100,000
Al 50,000
= 50,000
2 3 sHAMY 342,720 360,000 A17,280
Al 171,360
= 171,360
402 Q12+ X201 ™ 342,720 360,000 A17,280
Al 171,360
[ 171,360
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